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Formula Sheet

Area of trapezium =% (a+b) h

Volume of prism = area of cross section x lengt

section
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1. (i) Write 72 and 108 as a product of prime factors.

ANswer: &

(i) Find the HCF of 72 and 108. @
wer: (2)
(iii) Ff nd 108

(2)

Answer: 2
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2. Without using a calculator and showing all working out calculate:

Answer:

3. Find h, the height of the cereal box.

h 32 cm

10

Answer: cm (3)
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4. A car travels a distance of 275 km in 2 hours and 30 minutes. Calculate

the average speed.

Answer:

5. Calculate an estimate of the mean height IS ¢
Height (H) (cm) | Freque
155< H <160 3
160 < H <165 6
165< H <170 17

170< H <175 2
175< H <180
180< H <18

/hr (2)
stude

2

Answer: cm (4)
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6. A Dblock has a mass of 60 g and volume of 240 cmg.

Calculate the density of the block.

Answer: g/lcmsd (2)

7. Johnis x years old.

Paul is 4 years older than Joh

Alan is twice the age of P
The three ages all ad
Form an equatio

Solve to find

Answer: John Paul Alan _ (4)
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8. Write 7.783 to one decimal place.

Answer: (2)

9. The table shows the maths and science scores of seven Yr12 pupils.

()

(i)  Draw a scatter graph

(i)  What type of correlation is there?

Answer: 1)
(ili) Draw a line of best fit.
ictthe s

(iv)  Use your line of best fit to pr gore if the maths

score is 41.

ANSwer:

1)

4 47 53 70
39 55 49 67

Maths

Science
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SCIENCE

80

70

60

50

40

30

20

10
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10. Write 28.923 to 2 significant figures.

Answer: (2)

11. Tomearns £27 500. The first £9 000 is tax free, 22% income tax is paid
on the remainder.

How much has he left after tax has been paid?

2)

pound interest.

12. £2000 is invested for 3 years at 2.59

Find the total amount in t

Answer: £ 2

500. After 1 year it loses i of its value.

value of the car after 1 year?

Answer: £ 2
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14. Complete the table and draw the graph y = 2x + 4.

(3)
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15. The radius of a coin is 22 mm.

Calculate the circumference of the coin.

mm  (2)

16. John’s mean mark .5. His first seven marks are

7,8,4,7,5,9 : » al mark.

Answer: (2
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17. 44 pupils were asked which sport they played.
23 played hockey, 22 played cricket, 9 played hockey and cricket, 10
played hockey and tennis, 7 played cricket and tennis, 4 played all

three and 2 played none of the three sports.

(i) Show the information in a Venn Diagram. (3)
(i) How many played tennis? Q
@ )
hockey cricket
tennis

THIS IS THE END OF THE QUESTION PAPER
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